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Q.1 How many numbers are there which are followed by symbols?
8H#L4$P&6R7%G$U3@O0#B2A!I2L#C?5E3$S7@D
Ans X 1.6
W 2.5
3.3
X 4.4
Question ID : 630680370251
Option 11D : 6306801442396
Option 2 ID : 6306801442395
Option 3 ID : 6306801442393
Option 4 ID : 6306801442394
Status : Answered
Chosen Option : 3
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Q.2 Select the number from among the given options that can replace the question mark (?) in
the following series.
7,8,10,14,7,38,70

Ans X 1.25
o 2.22
% 3.19
X 4.21

Question ID : 630680370253

Option 1 ID : 6306801442403
Option 2 ID : 6306801442401
Option 31D : 6306801442402
Option 4 ID : 6306801442404

Not Attempted and
Marked For Review

Chosen Option : --

Status:

Q.3 Select the option that is related to the fourth number in the same way as the first number is
related to the second number.
12:139::?:164

Ans X 1.15
 2.13
X 3.14
X 4.17

Question ID : 630680370259
Option 11D : 6306801442426
Option 2 ID : 6306801442427
Option 3 1D : 6306801442425
Option 4 ID : 6306801442428
Status : Answered
Chosen Option : 2

Q.4 Read the given statements and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,
decide which of the given conclusions logically follow(s) from the statements.

Statements:
Some Apples are Biscuits.
Some Biscuits are Chocolates.

Conclusions:
1.Some Chocolates are Biscuits.
2. Some Biscuits are Apples.

Ans X 1.0nly conclusion 1 follows.
5 2. Neither conclusion 1 nor 2 follow.
25 3. 0Only conclusion 2 follows.

&" 4. Both conclusions 1 and 2 follow.

Question ID : 630680370240
Option 1 1D : 6306801442349
Option 2 ID : 6306801442351
Option 31D : 6306801442350
Option 4 1D : 6306801442352
Status : Answered
Chosen Option : 4
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Q.5 If A stands for ‘-’, B stands for ‘+’, C stands for ‘x’ and D stands for ‘', then what is the value
of 21A3C6(75D15C2B8)A4?

Ans X 1.345
o 2.-307
X 3.125
X 4.-125

Question ID : 630680370258
Option 1 ID : 6306801442422
Option 2 ID : 6306801442424
Option 31D : 6306801442423
Option 4 ID : 6306801442421
Status : Answered
Chosen Option : 2

Q.6 Read the given statements and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,
decide which of the given conclusions logically follow(s) from the statements.

Statements:
All Pencils are Mangoes.
No Pens are Mangoes.

Conclusions:
1. No pencils are Pens.
2. Some Mangoes are Pens.

Ans X 1.Both conclusions 1 and 2 follow.
#< 2. 0Only conclusion 2 follows.
Z5 3. Neither conclusion 1 nor 2 follow.

«# 4. Only conclusion 1 follows.

Question ID : 630680370241
Option 1 ID : 6306801442356
Option 2 ID : 6306801442354
Option 3 ID : 6306801442355
Option 4 ID : 6306801442353
Status : Answered
Chosen Option : 4
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Q.7 Seven friends D, E, F, G, H, |, and J are watching movies on different days of the week
(starting on Monday and ending on Sunday) not necessarily in the same order.E is going to
watch a movie on Tuesday. | is going to watch a movie on an adjacent day of E. There are
three days gap between the days on which | and D are going to watch the movie. J is going
to watch the movie just after G. There are as many persons watching the movie between D
and J, the same as between G and F. F is watching the movie before G, but not just before. F
is watching a movie on which day?

Ans o 1. Thursday
X 2. Saturday
X 3. Wednesday
X 4. Tuesday

Question ID : 630680370238
Option 1 ID : 6306801442343
Option 2 ID : 6306801442341
Option 31D : 6306801442344
Option 4 ID : 6306801442342
Status : Answered
Chosen Option : 1

Q.8 Read the following statements and conclusion and choose the best option among the
following.
Statements:
All July are DecemberSome December are August.
Conclusions:
1. Some December are July.
2. All August are July.

Ans " 1.0nly 1 conclusion follows
75 2.Both 1 and 2 follows
#< 3. 0nly 2 conclusion follows

/5 4. Neither 1 nor 2 follows

Question ID : 630680370245
Option 11D : 6306801442372
Option 2 ID : 6306801442369
Option 3 1D : 6306801442370
Option 4 ID : 6306801442371
Status : Answered
Chosen Option: 1

Q.9 If A stands for ‘~’, B stands for ‘+', C stands for ‘x’ and D stands for ‘+’, then what is the value
of (36D4A9)B(12C3A36)?

Ans 1.0
< 2.42
< 3.8
X 4.15

Question ID : 630680370257
Option 11D : 6306801442417
Option 2 ID : 6306801442419
Option 31D : 6306801442420
Option 4 ID : 6306801442418
Status : Answered
Chosen Option : 1
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Q.10 Read the given statements and conclusions carefully. Assuming that the information given
in the statements is true, even if it appears to be at variance with commonly known facts,

decide which of the given conclusions logically follow(s) from the statements.

Statements:
Some Dogs are Parrots.
All Parrots are Crows.

Conclusions:
1. Some Parrots are Dogs.
2. Some Dogs are Crows.

Ans X 1. Neither conclusion 1, nor 2 follow.
" 2. Both conclusions 1 and 2 follow.
#< 3. Only conclusion 1 follows.

/5 4. Only conclusion 2 follows.

Question ID : 630680370239
Option 1 1D : 6306801442348
Option 2 ID : 6306801442347
Option 3 ID : 6306801442345
Option 4 ID : 6306801442346
Status : Answered
Chosen Option : 2
Q.11 Find the approximate value of the following equation.
3.09 +0.81 +0.97
Ans  # 1.5
X 26
X 3.7
X 4.45
Question ID : 630680370255
Option 1 1D : 6306801442412
Option 2 ID : 6306801442411
Option 3 ID : 6306801442410
Option 4 ID : 6306801442409
Status : Answered
Chosen Option : 2
Q.12 Find the odd word out ?
Ans X 1. Cardamom Hills
75 2. Nilgiri Hills
& 3. Shiwalik Hills
5 4. Anaimudi Hills
Question ID : 630680370252
Option 11D : 6306801442397
Option 2 ID : 6306801442398
Option 3 ID : 6306801442399
Option 4 ID : 6306801442400
Status : Answered
Chosen Option: 3
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Q.13 In a certain code language, 'ANAMIKA' is coded as ‘2729832’ and ‘AMBALA' is coded as
295242’. How will ‘'KIBAM' be coded in the given language?

Ans o 1.38529
< 2.39528
X 3.38527
X 4.38429

Question ID : 630680370246
Option 11D : 6306801442374
Option 2 ID : 6306801442375
Option 31D : 6306801442373
Option 4 ID : 6306801442376
Status : Answered
Chosen Option : 1

Q.14 Find the approximate value of the following equation.
0.89 +2.13 - 1.92 +0.97

Ans X 1.4
X 2.9
3.2
X 4.8

Question ID : 630680370256
Option 1 1D : 6306801442415
Option 2 ID : 6306801442416
Option 31D : 6306801442414
Option 4 ID : 6306801442413
Status : Answered
Chosen Option: 3

Q.15 LUMINOSITY, LUMINOSIT, UMINOSIT, ?
What will come in place of question mark?

Ans X 1.UMINOS
% 2. MINOSI
& 3. UMINOSI
X 4.INOSIT

Question ID : 630680370247
Option 11D : 6306801442378
Option 2 ID : 6306801442380
Option 31D : 6306801442377
Option 4 ID : 6306801442379
Status : Answered
Chosen Option : 3
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Q.16 Select the letter from among the given options that can replace the question mark (?) in the
following series.
A’ ?l Il P’ Y

Ans X 1.E
X 2c
& 3.D
X 4F

Question ID : 630680370242
Option 11D : 6306801442357
Option 2 ID : 6306801442359
Option 31D : 6306801442358
Option 4 1D : 6306801442360
Status : Answered
Chosen Option : 3

Q.17 Four word-pairs have been given, out of which three are alike in some manner and one is
different. Select the one that is different.

Ans o 1.File: Clerk
< 2. Client : Lawyer
25 3. Patient : Doctor

/5 4. Customer : Shopkeeper

Question ID : 630680370249
Option 11D : 6306801442386
Option 2 ID : 6306801442387
Option 3 1D : 6306801442385
Option 4 ID : 6306801442388
Status : Answered
Chosen Option: 1

Q.18 Seven people G, H, |, J, K, L, and M live in a seven-floor building. The lowermost floor is
numbered 1 and the topmost floor is numbered 7. Three floors are between | and K. Person
G lives above J and below M. L lives on an even number of floors below floor 5. M doesn’t
live above K. I is living immediately below L. The number of people living below K is the
same as the number of people living above H. Who lives on the second floor?

Ans X 1.1
2.
X 3.H
X 4L

Question ID : 630680370237
Option 1 ID : 6306801442340
Option 2 ID : 6306801442338
Option 31D : 6306801442339
Option 4 ID : 6306801442337
Status : Answered
Chosen Option : 2
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Q.19 M, N, O, P, Q, R, S and T are sitting round the table and are facing the centre. M is second to
the right of Q who is the neighbour of O and S. P is not the neighbour of M. S is the
neighbour of R. N is not between P and T. T is not between R and P. Which one is immediate
right to the S?

Ans X 1.R
X 20
X 3M
W 4.Q

Question ID : 630680370236
Option 11D : 6306801442334
Option 2 ID : 6306801442335
Option 31D : 6306801442333
Option 4 1D : 6306801442336
Status : Answered
Chosen Option : 4

Q.20 Select the option that is related to the third number in the same way as the second number
is related to the first number.
7:24::15:?

Ans X 1.47
X 2.49
o 3.56
X 4.55

Question ID : 630680370260
Option 11D : 6306801442431
Option 2 ID : 6306801442430
Option 31D : 6306801442429
Option 4 ID : 6306801442432
Status : Answered
Chosen Option : 3

Q.21 Four letter-clusters have been given, out of which three are alike in some manner and one is
different. Select the one that is different.

Ans X 1.TVXY
o 2. IHIN
X 3.BDFG
X 4.0QST

Question ID : 630680370250
Option 1 1D : 6306801442392
Option 2 ID : 6306801442391

Option 31D :
Option 41D :
Status :

Chosen Option :

6306801442389
6306801442390
Answered

2
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Ans

the following series.
0, 4,18, 48,100, ?, 294

X 1.195
% 2.150
o 3.180
X 4.198

Q.22 Select the number from among the given options that can replace the question mark (?) in

Question ID
Option 11D
Option 2 1D
Option 31D
Option 4 ID

1 630680370254
1 6306801442408

1 6306801442405
1 6306801442406
1 6306801442407

Status : Not Answered
Chosen Option : --

related to the first word.
Hen: Egg:: Cow:?

Q.23 Select the option that is related to the third word in the same way as the second word is

Ans o 1. Calf
/< 2. Baby
X 3. lamb
X 4. Dear
Question ID : 630680370248
Option 11D : 6306801442383
Option 2 ID : 6306801442381
Option 3 1D : 6306801442382
Option 4 ID : 6306801442384
Status : Answered
Chosen Option : 1
Q.24 Select the term from among the given options that can replace the question mark (?) in the
following series.
B5,E4, D7, ?, F9
Ans X 1.H6
o 2.G6
X 3.c7
X 4.6
Question ID : 630680370244
Option 11D : 6306801442367
Option 2 ID : 6306801442365
Option 3 1D : 6306801442366
Option 4 ID : 6306801442368
Status : Answered
Chosen Option: 2
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following series.
3E, 6F, 11H, 2, 270

Q.25 Select the term from among the given options that can replace the question mark (?) in the

Ans 4 1.18K
2 2.15J
X 3.17K
X 4.18L
Question ID : 630680370243
Option 11D : 6306801442364
Option 2 ID : 6306801442362
Option 31D : 6306801442363
Option 4 1D : 6306801442361
Status : Answered
Chosen Option : 1
Section : General Awareness
Q.1 In which of the following phyla, bioluminescence (the property of a living organism to emit
light) is well marked?
Ans " 1. Ctenophora
X 2. Porifera
< 3. Mollusca
/X 4. Arthropoda
Question ID : 630680370235
Option 1 1D : 6306801442330
Option 2 ID : 6306801442329
Option 31D : 6306801442331
Option 4 1D : 6306801442332
Status : Answered
Chosen Option: 1
Q.2 In the banking sector, IFSC stands for
Ans X 1.International Financial System Code
& 2. Indian Financial System Code
< 3. Indian Fiscal System Classification
#< 4. Indian Finance System classification
Question ID : 630680370217
Option 11D : 6306801442260
Option 2 ID : 6306801442257
Option 31D : 6306801442258
Option 4 ID : 6306801442259
Status : Answered
Chosen Option: 2
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Q.3 In 1526, who defeated the Sultan of Delhi, Ibrahim Lodi, at Panipat and captured Delhi and
Agra?

Ans X 1.Humayun
< 2. Alauddin Khilji
¥ 3. Babur
/< 4. Balban

Question ID : 630680370220
Option 11D : 6306801442269
Option 2 ID : 6306801442270
Option 3 1D : 6306801442272
Option 4 ID : 6306801442271
Status : Answered
Chosen Option: 3

Q.4 Which of the following is/are correct about Delhi Occupational Safety, Health and Working
Conditions Rules 2023?

A. The draft was approved by Labour Minister Raaj Kumar Anand in April 2023.
B. It will allow women to work in night shifts with full security.
C. It will ensure salary for overtime to women 25% more than the men.

Ans X 1.0nlyC
/X 2.BandC

X 3.0nlyA
o 4. Aand B

Question ID : 630680370216
Option 11D : 6306801442253
Option 2 ID : 6306801442256
Option 31D : 6306801442254
Option 4 ID : 6306801442255
Status : Not Answered
Chosen Option : --

Q.5 As per Census 2011, which of the following is NOT correctly matched?
Ans X 1. Christian-2.3%

7 2. Buddhist - 0.7%
7 3.Jain-0.4%
o 4. Sikh-2.8%

Question ID : 630680370234

Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

6306801442325
6306801442326
6306801442327
6306801442328
Answered

Chosen Option : 3
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Q.6 Where is National Sanskrit University located?
< 1. Warangal

X 2. Jaipur
#< 3. Chandigarh

Ans

Chosen Option :

o 4. Tirupati
Question ID : 630680370227
Option 1 ID : 6306801442297
Option 2 ID : 6306801442299
Option 3 ID : 6306801442298
Option 4 ID : 6306801442300

Status : Not Answered
Chosen Option : --
Q.7 Which of the following languages was included in the 8th Schedule of the Constitution of
India in 1992?
Ans X 1. Assamese

X 2. Telugu

< 3.Urdu

" 4. Konkani
Question ID : 630680370226
Option 11D : 6306801442296
Option 2 ID : 6306801442294
Option 31D : 6306801442293
Option 4 ID : 6306801442295

Status : Marked For Review

1

Q.8 Who became the world's number one for the first time in his career in the men's javelin
throw rankings issued by the World Athletics in May 2023?

Ans " 1. Neeraj Chopra
25 2. Sundar Singh Gurjar
25 3. Shivpal Singh

25 4. Sumit Antil

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680370213
6306801442244
6306801442242
6306801442241
6306801442243
Answered

1
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writer.
Ans X 1.Telugu

< 2. Malayalam
/5 3.Kannada
& 4. Tamil

Q.9 Sivasankari, the Saraswati Samman 2022 awardee for her 2019 memoir Surya Vamsam is a

Question ID
Option 1 ID
Option 2 ID

Option 4 ID

Status :

1 630680370223
1 6306801442282

: 6306801442283
Option 31D :

6306801442284

1 6306801442281
Marked For Review

Chosen Option: 1

Q.10 Patkai hills, the Naga hills, the Manipur hills and the Mizo hills are part of
Ans X 1.Himachal

& 2. Purvachal

X 3. Himadri
X 4. Shiwalik
Question ID : 630680370230
Option 11D : 6306801442311
Option 2 ID : 6306801442309
Option 31D : 6306801442310
Option 41D : 6306801442312
Status : Answered
Chosen Option: 2
Q.11 The Budhabalanga, the Baitarini, the Salandi, and the Rushikulya are the rivers having a
source inside the state of .
Ans X 1.Gujarat
5 2. Mizoram
5 3.Goa
" 4. Odisha
Question ID : 630680370231
Option 11D : 6306801442313
Option 2 ID : 6306801442316
Option 31D : 6306801442314
Option 4 ID : 6306801442315
Status : Answered
Chosen Option : 4
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Q.12 The density of population as per Census 2011 was

persons per sq.km.

Chosen Option :

Ans X 1.396
& 2.382
< 3.405
X 4.370
Question ID : 630680370233
Option 11D : 6306801442323
Option 2 ID : 6306801442322
Option 3 ID : 6306801442324
Option 4 ID : 6306801442321
Status : Answered
Chosen Option : 2
Q.13 Pawl Kuts is a thanks giving festival celebrated for two days after the harvest in
Ans  # 1. Mizoram
X 2. Telangana
/X 3. Arunachal Pradesh
X 4. Haryana
Question ID : 630680370229
Option 11D : 6306801442306
Option 2 ID : 6306801442308
Option 3 1D : 6306801442305
Option 4 1D : 6306801442307
Status : Answered
Chosen Option : 3
Q.14 Prraneeth Vuppala, who has become India’s 82nd Grandmaster in May 2023 after achieving
the required 2,500 FIDE rating points, belongs to .
Ans ¥ 1.Telangana
/< 2. Maharashtra
/< 3. 0disha
X 4. Kerala
Question ID : 630680370212
Option 11D : 6306801442238
Option 2 ID : 6306801442240
Option 3 ID : 6306801442239
Option 4 ID : 6306801442237
Status : Answered

1
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Q.15 In which year did the Government of India announce its decision to form the new province of
‘Eastern Bengal and Assam’?

Ans o 1.1905
< 2.1909
< 3.1903
X 4.1902

Question ID : 630680370219
Option 11D : 6306801442267
Option 2 ID : 6306801442268
Option 31D : 6306801442266
Option 4 ID : 6306801442265
Status : Not Answered
Chosen Option :

Q.16 Which of the following is/are true about The Thorn Forests and Scrubs?

A.This type of vegetation is found in the north-western part of the country.

B. Silver fir, junipers, pines and birches are the common trees of these forests.
C.Trees are scattered and have long roots penetrating deep into the soil in order to get
moisture.

Ans X 1.0nly A
o 2.AandC
/< 3.BandC

/X 4.0nlyB

Question ID : 630680370232
Option 11D : 6306801442317
Option 2 ID : 6306801442319
Option 3 1D : 6306801442320
Option 4 ID : 6306801442318
Status : Answered
Chosen Option : 2

Q.17 Which of the following festivals of Maharashtra provides an occasion to cement ties
between brothers and sisters on the fifth day of Diwali?

Ans X 1. Doongri festival
#< 2. Vata Poornima
o« 3. Bhaubeegj
75 4. Pola festival

Question ID : 630680370228
Option 11D : 6306801442302
Option 2 ID : 6306801442303
Option 31D : 6306801442301
Option 4 ID : 6306801442304
Status : Not Answered
Chosen Option : -
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Q.18 India's first water metro was launched in
Ans o 1. Kochi

April 2023.

#X 2. Hyderabad
75 3. Vishakhapatnam
< 4. Mysuru

Question ID : 630680370214
Option 1 ID : 6306801442247
Option 2 ID : 6306801442245
Option 3 ID : 6306801442246
Option 4 ID : 6306801442248
Status : Answered
Chosen Option : 1

Q.19 The allocation for which of these schemes for minorities aimed at providing better higher
education opportunities that got almost doubled in the budget 2023-24 while there was a
cut in the funds for other schemes?

Ans X 1.Naya Savera scheme
" 2. Post-matric scheme
#< 3. Maulana Azad National Fellowship
< 4. Nai Udaan

Question ID : 630680370215
Option 1 ID : 6306801442249
Option 2 ID : 6306801442251
Option 31D : 6306801442250
Option 4 ID : 6306801442252
Status : Not Answered
Chosen Option : --

Q.20 In which of the following books, which is an autobiography of Milkha Singh, he has shared
the amazing highs of winning India's first ever gold in athletics at the Commonwealth
Games, the unbridled joy of being hailed as the 'Flying Sikh' in Pakistan, as well as the
shattering low of failure at the Olympics?

Ans X 1.The Test of My Life
5 2. Playing It My Way
& 3. The Race of My Life
/5 4. Straight from the Heart

Question ID : 630680370224

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306801442286
6306801442288
6306801442285
6306801442287
Answered

3
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Q.21 Which of the following statements is INCORRECT with respect to South Indian Kingdom?

Ans X 1.Simhavishnu was succeeded by Mahendravarman-l, who annexed territories in the
north up to the river Krishna.

&" 2. The Cholas came to light with king Kadungon towards the close of the sixth century
AD when he suppressed the Kalabhras.

/< 3. The Chalukyas became a sovereign power with Pulakesin-I.

#5 4. The Pandyas ruled in the southernmost districts of Tamilnadu with the Vaigai river
basin as the heartland of the kingdom.

Question ID : 630680370222
Option 11D : 6306801442280
Option 2 ID : 6306801442277
Option 31D : 6306801442278
Option 4 ID : 6306801442279
Status : Not Answered
Chosen Option : -

Q.22 Firuz Shah Tughluq ruled in India from ____.
Ans X 1.1324-1336

o 2.1351-1388
7 3.1320-1324
% 4.1336-1357

Question ID : 630680370221
Option 11D : 6306801442274
Option 2 ID : 6306801442276
Option 31D : 6306801442273
Option 4 ID : 6306801442275
Status : Not Answered
Chosen Option : --

Q.23 In which of the following cities was the third khelo India University games concluded on 3
June 2023?

Ans X 1.Hyderabad
25 2. New Delhi
¥ 3. Varanasi
X 4. Ahmedabad

Question ID : 630680370211
Option 11D : 6306801442236
Option 2 ID : 6306801442233
Option 31D : 6306801442235
Option 4 ID : 6306801442234
Status : Answered
Chosen Option: 3
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Q.24 Which of the following is defined as the change in output per unit of change in the input
when all other inputs are held constant?

Ans " 1. Marginal Product of an input
< 2. Marginal Product of an output
25 3. Average Product of an output

/5 4. Average Product of an input

Question ID : 630680370218
Option 11D : 6306801442262
Option 2 ID : 6306801442261
Option 31D : 6306801442263
Option 4 ID : 6306801442264
Status : Not Answered
Chosen Option : --

Q.25 Which of the following is NOT a classical language of India?
Ans X 1.Tamil

X 2. Telugu
/< 3. Sanskrit
& 4. Hindi

Question ID : 630680370225
Option 1 ID : 6306801442290
Option 2 ID : 6306801442289
Option 31D : 6306801442292
Option 4 ID : 6306801442291
Status : Answered
Chosen Option: 2

Section : Quantitative Aptitude (Basic Arithmetic Skill)

Q.1 Tara and Disha were given the same amount of money to spend. After a week the ratio of money spent to the total
money for Tara is 5 : 6 and for Disha, it is 37 : 42. Compare the ratios and choose the option that is true.

Ans

X 1. The money spent by both Tara and Disha is equal.

x 2
The money spent by Tara is more than the money spent by Disha.

¥ 3.
The money spent by Disha is more than the money spent by Tara.

& 4. Cannot be determined.

Question ID : 630680370269
Option 1 1D : 6306801442467
Option 2 ID : 6306801442465
Option 3 1D : 6306801442466
Option 4 ID : 6306801442468
Status : Answered
Chosen Option: 3
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Q.2 Abook seller printed 30% extra on the production value of a book but he gave 10% discount
on printed price. How much percentage did he gain after selling the book?

Ans X 1.20%
X 2.22%
o 3.17%
X 4.37.40%

Question ID : 630680370274
Option 11D : 6306801442486
Option 2 ID : 6306801442485
Option 3 1D : 6306801442487
Option 4 ID : 6306801442488
Status : Answered
Chosen Option: 3

Q.3 A alone can complete a work in 8 hours B and C can do the same work together in 2 hours
and A and B can also do it together in 2 hours How much time would C take to complete the
work alone?

Ans X 1.16 hours
< 2.6 hours
< 3.4 hours
" 4.8 hours

Question ID : 630680370280
Option 11D : 6306801442511
Option 2 ID : 6306801442512
Option 3 1D : 6306801442509
Option 4 ID : 6306801442510
Status : Answered
Chosen Option : 4

Q.4 Three pipes K, L and M each can fill a tank from empty to full in 10 minutes, 20 minutes and 30 minutes, respectively.
When the tank is empty. all the three pipes are opened. Pipes K, L and M discharge different liquids P, Q and R,
respectively. What is the proportion of liquid Q in the tank after 5 minutes?

Ans 5

X 1.
12

3
&2
11

xa 11
12

x4
11

Question ID : 630680370273
Option 1 ID : 6306801442483
Option 2 ID : 6306801442481
Option 3 ID : 6306801442482
Option 4 ID : 6306801442484
Status : Not Answered
Chosen Option : --
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9> What is the value of 27 — (2169 + 52+ 43)?
Ans 1. 39
X2 216
X3 40
« 4 38
Question ID : 630680370261
Option 1 ID : 6306801442433
Option 2 ID : 6306801442436
Option 3 ID : 6306801442435
Option 4 ID : 6306801442434
Status : Answered
Chosen Option : 4

Q.6 F alone can do a work in 9 days and J alone in 5 days. They completed the work along with N in 3 days. In how many
days N alone would have completed the work?

Ans X 1. 35
2 45
<3 28
X 4 55
Question ID : 630680370272
Option 11D : 6306801442478
Option 2 ID : 6306801442479
Option 3 ID : 6306801442477
Option 4 ID : 6306801442480
Status : Answered
Chosen Option : 2

Q.7 Neetu purchased a table for ¥1.650. She spent 940 to modify the table. After that, she sold the table for 3.367. How
much per cent did she gain or lose?

Ans

X 1. 259% loss

X 2. 30% loss

X 3. 25% gain

« 4. 30% gain
Question ID : 630680370266
Option 1 1D : 6306801442454
Option 2 ID : 6306801442453
Option 3 1D : 6306801442455
Option 4 ID : 6306801442456

Status : Answered
Chosen Option : 4
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Q.8 Viveklends ¥62,500 to Rahul for 4 years. The amount would be ¥2,40,100 at a certain rate
of interest compounded annually. What is the rate of interest?

Ans 1. 40%

Question ID : 630680370271
Option 1 ID : 6306801442474
Option 2 ID : 6306801442475
Option 3 ID : 6306801442476
Option 4 ID : 6306801442473
Status : Not Answered
Chosen Option : --

Q.9 60 kg of an alloy A mixed with 100 kg of alloy B. If alloy A has Zinc and copper in the ratio
3:2 and alloy B has copper and tin in the ratio 1:3, then the ratio of copper and tin in the new
alloy is

Ans X 1.8:15
X 2.3:25
o 3.49:75
X 4.825

Question ID : 630680370284

Option 11D : 6306801442528
Option 2 ID : 6306801442526
Option 31D : 6306801442527
Option 4 ID : 6306801442525

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.10 Ananya was travelling from her college to the market. She walked at the speed of 12 km/h for half the journey and at

the speed of 8 km/h for the remaining journey. If the total distance of market from her college is 36 km, then what is the
average speed for the total journey?

Ans X1 13.7 km/h
« 2. 9.6 km'h
X3 16.3 km'h
X 4. 15.5 km/h

Question ID : 630680370263
Option 11D : 6306801442442

Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306801442441
6306801442443
6306801442444
Answered

2
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Q.11 Varun spends 88% of his income. His income increases by 40% and his expenditure also increases by 20%. What is the
percentage of increase in his savings? (Round the answer to nearest integer)

Ans X 1. 159%
X 2. 88%
X 3. 96%
v 4 187%

Question ID : 630680370265
Option 1 ID : 6306801442451
Option 2 ID : 6306801442450
Option 3 ID : 6306801442452
Option 4 ID : 6306801442449
Status : Answered
Chosen Option : 4

Q.12 The radius of the arc of a sector is equal to the side of a square with perimeter 112 m. The angle of the sector is 90 °,
Find the area of the sector and the length of its arc, respectively.

(Value of m=22/7)

Ans

¥ 1 616 m® and 44 m
X2 346 m? and 22 m
X 3 346 m? and 44 m
X4 616 m* and 22 m

Question ID : 630680370283
Option 11D : 6306801442522
Option 2 ID : 6306801442523
Option 31D : 6306801442521
Option 4 ID : 6306801442524
Status : Answered
Chosen Option: 1

Q.13 Find the diagonal of the cube whose volume is equal to that of the cuboid with length = 9 m, breadth = 9 m and height =
27 m.

Ans X1, 23 m

X2 743 m

3 27Tm

X4 943m

Question ID : 630680370282
Option 1 ID : 6306801442517
Option 2 ID : 6306801442518
Option 31D : 6306801442520
Option 4 ID : 6306801442519
Status : Answered
Chosen Option : 3
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Q.14 The ratio of H's salary to I's salary is 2 : 3. The ratio of I's salary to I's salary is 4 : 5. If H's salary is 26,400. What is I's
salary?

Ans 1. 310,560
X 2 314,300
X 3. 11,500
« 4. 212,000

Question ID : 630680370270
Option 1 1D : 6306801442470
Option 2 ID : 6306801442471
Option 3 ID : 6306801442469
Option 4 ID : 6306801442472
Status : Answered
Chosen Option : 4

Q.15 Diameter of a sphere is equal to the length of side of a square whose area is 4096 mZ. Find the surface area of the
sphere. (Round of to the nearest integer and m=22/7)

e XK 4022 m?
X2 16381 m?
3 12873 m?

X4 8166 m?

Question ID : 630680370279
Option 1 1D : 6306801442505
Option 2 ID : 6306801442508
Option 3 1D : 6306801442506
Option 4 ID : 6306801442507
Status : Answered
Chosen Option: 3

Q.16 The height of a cylindrical container is 2.5 m. The diameter of its base is 2100 em. What will be the cost of covering the
total surface area of the container with sheet at 214 per m2? (m=22/7)

Ans 1. 712,890
2 212,012
X3 %13.162
X 4 Z13.460

Question ID : 630680370281
Option 1 ID : 6306801442514
Option 2 ID : 6306801442515
Option 31D : 6306801442513
Option 4 ID : 6306801442516
Status : Not Answered
Chosen Option : --
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Q.17 The mean proportional between 16 and a number is twice the mean proportional between 8§ and 32. Find the number.

Chosen Option :

Ans X1. 32
X 2 48
3 64
X 4 56
Question ID : 630680370268
Option 11D : 6306801442464
Option 2 ID : 6306801442462
Option 3 ID : 6306801442461
Option 4 ID : 6306801442463
Status : Answered
Chosen Option: 3
Q18 gimplify the following expression.
18792 + 261 x (B9—-6 x 13) + 426
Ans 1. 1218
X 2. 1473
X 3. 78412
X 4 78114
Question ID : 630680370262
Option 11D : 6306801442440
Option 2 ID : 6306801442438
Option 3 ID : 6306801442439
Option 4 ID : 6306801442437
Status : Answered
Chosen Option : 1
Q.19 The original price of an almirah was 6,300. In the sale, the price was decreased to Z5,166. What is the percentage
decrease on the original price of the product?
Ans 1. 804
X2 15%
X 3 23%
X4 21%
Question ID : 630680370264
Option 1 ID : 6306801442447
Option 2 ID : 6306801442448
Option 31D : 6306801442446
Option 4 ID : 6306801442445
Status : Answered

1
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Q.20 Rohan’s aunt’s present age is six times Rohan’s present age. After 10 years, the sum of their ages would be eleven times
Rohan’s present age. What is Rohan’s and his aunt’s present ages?

Solve the equations to get value of the three variables.
—4p—-5q-r=18
—2p-5q-2r=12

—2p+5q+2r=4

Ans X1 p=-3,q=5.r=-4
X2 p=4,q=0.,r=2
X3 p=3.,q=-5.r=4
i p=-4,q=0,r=-2

Ans 1. 5 years and 30 years
X 2. 7 years and 42 years
X 3. 6 years and 36 years
X 4. 8 years and 48 years
Question ID : 630680370275
Option 11D : 6306801442492
Option 2 ID : 6306801442490
Option 31D : 6306801442489
Option 41D : 6306801442491
Status : Answered
Chosen Option: 1
Q.21

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 41D :
Status :

Chosen Option :

630680370277
6306801442499
6306801442498
6306801442500
6306801442497
Answered

4
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Q.22 Prashant offers a discount of 30% on a refrigerator. After discount he still makes a profit of 33%0. The marked price of the
refrigerator is 4,560. What is the cost price of the refrigerator?

Ans % 1.32,250
« 2. 22,400
X3 22,625
X 4. 32,730

Question ID : 630680370267
Option 1 ID : 6306801442457
Option 2 ID : 6306801442459
Option 3 ID : 6306801442458
Option 4 ID : 6306801442460
Status : Answered
Chosen Option : 2

Q.23

12
Ifcos© = E . then find cosec 6.

Ans

X120
x 2. 2%
W

W 3

Question ID : 630680370285
Option 1 ID : 6306801442529
Option 2 ID : 6306801442531
Option 31D : 6306801442532
Option 4 ID : 6306801442530
Status : Answered
Chosen Option : 3
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Q.24 Nishant owns a triangular field. The three sides of the field are a =7 cm, b= 8 cm and ¢ = 9 cm. Calculate the area of
the field. (Round off the answer upto two decimal places.)

Ans

X1 31.62 cm?

X 2. 53.06 cm’

X3 41.45 cm?

¥4 26.83 cm?
Question ID : 630680370278
Option 11D : 6306801442501
Option 2 ID : 6306801442502
Option 3 ID : 6306801442504
Option 4 ID : 6306801442503

Status : Answered
Chosen Option : 4
Q.25

If x—y =5 and xy = 23, compute the value r:-f:«:e'—'._.nr3 :
Ans X' 1. 250

« 2. 470
X3 —470
X 4 =250

Question ID : 630680370276
Option 1 1D : 6306801442494
Option 2 ID : 6306801442493
Option 3 ID : 6306801442495
Option 4 ID : 6306801442496
Status : Not Answered
Chosen Option : --

Section : English Language (Basic Knowledge)

Q.1 Select the correctly spelt sentence.

Ans  # 1. The Northwest province recorded the highest proportion of wastewater treatment
works at critical risk.

/5 2. The Northwest province recorded the highest proportion of waistewater tretement
works at critical risk.

/5 3. The Northwest province recorded the highest preportion of wastewater tretement
works at critical risk.

5 4. The Northwest provinse recorded the highest preportion of wastewater treatment
works at critical risk.

Question ID : 630680370208
Option 1 1D : 6306801442223
Option 2 ID : 6306801442224
Option 3 ID : 6306801442222
Option 4 ID : 6306801442221
Status : Answered
Chosen Option: 1
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Q.2 Select the most appropriate option to fill in the blanks.
Her white sari with a golden looked beautiful. Saakshi was not just a
she was a part of our family.

Ans  # 1. border; boarder

with us,

X 2. boarder; boarder
/< 3. border; border
< 4. boarder; border

Question ID : 630680370210
Option 11D : 6306801442232
Option 2 ID : 6306801442231
Option 3 1D : 6306801442230
Option 4 ID : 6306801442229
Status : Answered
Chosen Option : 1

Q.3 The following sentence has been divided into parts. One of them may contain a spelling
error. Select the part that contains the error from the given options. If you don't find any
error, mark ‘No error’ as your answer.

The report records continued / overall decline in the status of the / country’s water supply
servises.

Ans X 1.No error
Z5 2. The report records continued
< 3. overall decline in the status of the

& 4. country’s water supply servises

Question ID : 630680370207
Option 1 1D : 6306801442220
Option 2 ID : 6306801442217
Option 31D : 6306801442218
Option 4 ID : 6306801442219
Status : Answered
Chosen Option : 4

Q.4 Select the most appropriate ANTONYM of the given word.
Admonish

Ans X 1.Warn
o 2. Praise
/< 3.Scold
/5 4. Criticise

Question ID : 630680370205

Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

6306801442209
6306801442211
6306801442212
6306801442210
Answered

2
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Q.5 Select the most appropriate option to fill in the blanks.
China is working to create the world's
have revealed that
power in the world's oceans with its ability to detect incoming missiles
kilometres away.

Ans X 1. more; creation; to
& 2. most; construction; from
#5 3. best; building; by

#5 4. much; production; between

powerful radar ever built. Chinese scientists
of a radar system has begun that could shift the balance of naval
thousands of

Question ID : 630680370198
Option 11D : 6306801442182
Option 2 1D : 6306801442183
Option 31D : 6306801442184
Option 4 ID : 6306801442181
Status : Answered
Chosen Option: 2
Q.6 Select the most appropriate option to fill in the blank.
While his interest in board games began to , a passion for badminton developed.
Ans  # 1.wane
X 2. vein
< 3. wain
X 4. vain
Question ID : 630680370209
Option 1 ID : 6306801442226
Option 2 ID : 6306801442227
Option 3 1D : 6306801442225
Option 4 ID : 6306801442228
Status : Answered
Chosen Option : 1
Q.7 Select the most appropriate meaning of the given idiom.
Cool your heels
Ans X 1.Be calm in a difficult situation
/X 2. Take rest after hard work
/X 3. Lose confidence or courage
o" 4. Be kept waiting by someone
Question ID : 630680370203
Option 11D : 6306801442201
Option 2 ID : 6306801442202
Option 3 1D : 6306801442204
Option 4 ID : 6306801442203
Status : Answered
Chosen Option : 1
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Q.8 Select the most appropriate option to fill in the blanks.
Ukraine's fifth largest dam, Kakhovka Dam, has

numerous lives have been lost, land mines have been displaced, and there is fear

. Several settlements are flooded,

a
humanitarian and a nuclear disaster.
Ans X 1.collapsing; about
o" 2. collapsed; of
75 3.to collapse; for
25 4. collapse; to
Question ID : 630680370197
Option 11D : 6306801442179
Option 2 ID : 6306801442178
Option 3 1D : 6306801442180
Option 4 ID : 6306801442177
Status : Answered
Chosen Option : 2
Q.9 Select the most appropriate synonym of the given word.
Chaotic
Ans  # 1. Confused
/X 2. Systematic
X 3.Calm
X 4. Orderly
Question ID : 630680370204
Option 1 1D : 6306801442205
Option 2 ID : 6306801442208
Option 3 1D : 6306801442207
Option 4 ID : 6306801442206
Status : Answered
Chosen Option : 1
Q.10 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required'.
The existing old Yamuna bridge, also known as Loha Pul, on Delhi-Shahdara section was
constructing in 1867.
Ans X 1.was to be constructing
" 2. was constructed
/< 3. were being constructed
75 4. No substitution required
Question ID : 630680370192
Option 11D : 6306801442157
Option 2 ID : 6306801442159
Option 31D : 6306801442158
Option 4 ID : 6306801442160
Status : Answered
Chosen Option : 2
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Q.11 Select the most appropriate meaning of the given idiom.
Old hat

Ans X 1. A superstitious person
< 2. Acrazy person
#5 3. An anxious person

" 4. An outdated person

Question ID : 630680370202
Option 11D : 6306801442199
Option 2 ID : 6306801442197
Option 3 1D : 6306801442200
Option 4 ID : 6306801442198
Status : Answered
Chosen Option : 4

Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. Creating this narrow shaft into the ground will penetrate more than 10 continental strata,
or layers of rock, according to the report.

B. It will reach the cretaceous system in the earth’s crust, which features rock dating back
some 145 million years.

C. China has dug a hole in the earth’s crust which is 10,000 metres (32,808 ft) deep.

D. According to the news available the effort to dig the deepest-ever borehole began on
Tuesday (30 May) in the Tarim Basin, which is located in the Xinjiang .

Ans X 1.ADBC
< 2.CBDA
& 3.CDAB
X 4.DACB

Question ID : 630680370195

Option 11D : 6306801442169
Option 21D : 6306801442170
Option 31D : 6306801442171
Option 4 ID : 6306801442172

Status : Not Attempted and
" Marked For Review

Chosen Option : --

Q.13 Select the most appropriate option that can substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required'.
The Gujarat administration_has shifting more than 94,000 persons living in eight coastal
districts to temporary shelters.

Ans X 1. have to shifted
#5 2. has to be shifting
¥ 3. has shifted

Z5 4. no substitution required

Question ID : 630680370193
Option 11D : 6306801442163
Option 2 ID : 6306801442162
Option 31D : 6306801442161
Option 4 ID : 6306801442164
Status : Answered
Chosen Option: 3
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Q.14 Select the option that can be used as a one-word substitute for the underlined group of
words.

Manoj wants to learn the analysis of handwriting when he grows up.
5 1. lithography
X 2. etiology
/< 3. calligraphy
&" 4. graphology

Ans

Question ID : 630680370190
Option 11D : 6306801442149
Option 21D : 6306801442152
Option 3 ID : 6306801442151
Option 4 1D : 6306801442150
Status : Answered
Chosen Option : 3
Q.15 Select the most appropriate option to fill in the blanks.
The Arabian Sea has traditionally been a relatively cooler body of water compared to the
Bay of Bengal, ____ due to rising sea surface temperatures, it has now a favourable
zone for cyclone formation.
Ans  # 1. but; become
X 2. since; turned
/< 3. and; converted
X 4. so; developed
Question ID : 630680370196
Option 11D : 6306801442175
Option 2 ID : 6306801442176
Option 3 ID : 6306801442173
Option 4 ID : 6306801442174
Status : Answered
Chosen Option : 1
Q.16 Select the option that can be used as a one-word substitute for the underlined group of
words.
The expedition leader made a/an complete list of items to be carried on the expedition.
Ans X 1.roster
" 2. inventory
X 3.itinerary
75 4. directory
Question ID : 630680370191
Option 11D : 6306801442156
Option 2 ID : 6306801442155
Option 31D : 6306801442154
Option 4 ID : 6306801442153
Status : Answered
Chosen Option : 3
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Q.17 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in the
correct order to form a meaningful and coherent paragraph.

A. Unakoti in the Raghunandan hills of Tripura is an ancient Shaivite place that has
99,99,999 rock carvings of gods and goddesses.

B. 'Koti' means a 'crore’ in Bengali and Unakoti stands for one less than a crore.

C. Known as Angkor Wat of the North-East, it is also called Subrai Khung in the local
Kokborok language.

D. So, this site actually has 99,99,999 stone cut images of Gods and Goddesses— exactly
one less than a crore.

Ans  # 1. ACBD
< 2. ABCD
75 3. ADBC
X 4.ADCB

Question ID : 630680370194
Option 11D : 6306801442166
Option 2 ID : 6306801442167
Option 3 ID : 6306801442165
Option 4 ID : 6306801442168
Status : Marked For Review
Chosen Option : 2

Q.18 Select the most appropriate ANTONYM of the given word.
Supercilious

Ans ¥ 1. Unassertive
/5 2. Egoistic
X 3. Arrogant
X 4. Haughty

Question ID : 630680370206
Option 11D : 6306801442216
Option 2 ID : 6306801442215
Option 31D : 6306801442213
Option 41D : 6306801442214
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate option to fill in the blank.
The treasurer of the association must the money spent on various activities.

Ans 4 1.account for
75 2. back away
75 3. bear out
/5 4. answer back

Question ID : 630680370201
Option 11D : 6306801442193
Option 2 ID : 6306801442196
Option 3 1D : 6306801442194
Option 4 ID : 6306801442195
Status : Answered
Chosen Option: 1
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Q.20 Select the most appropriate question tag to fill in the blank.

The postman doesn't work on Sundays, ___ ?
Ans X 1.doesn'the
#< 2. has he
¥ 3. does he
X 4.isn'the
Question ID : 630680370200
Option 11D : 6306801442191
Option 2 ID : 6306801442190
Option 3 1D : 6306801442192
Option 4 ID : 6306801442189
Status : Answered
Chosen Option: 3
Q.21 Select the most appropriate option to fill in the blank.
Marco Polo told his people strange stories the things he had seen in China.
Ans X 1. for
" 2. about
/< 3. across
X 4. over
Question ID : 630680370199
Option 11D : 6306801442185
Option 2 ID : 6306801442186
Option 3 ID : 6306801442188
Option 4 ID : 6306801442187
Status : Answered
Chosen Option : 2
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Comprehension:
Read the given passage and answer the questions that follow.

India posted record growth in coal production at more than 892 million tonne (mt) in 2022-23
from 778 mt in 2021-22 and thus, India’s coal production grew by 14.65 per cent on a Y-o-Y
foundation to hit an all-time high of 892.21 million tonnes aided by Coal India’s (CIL) record
production in addition to captive and business mines.

“This is a historic moment for the coal sector. | congratulate all the coal warriors and
stakeholders for the record growth. Despite the stiff targets, Coal India, SCCL, along with
captive and commercial mines have produced more than 892 mt of coal in FY23 (Financial
year 23). CIL has done a tremendous job by surpassing 700 mt this year,” Coal Minister
Pralhad Joshi informed reporters.

CIls production rose by virtually 13 per cent to 703.20 mt in FY23, whereas output by captives
and business mines grew by 34.59 per cent in FY23 to hit 121.88 mt. The production from
Singareni Collieries Company (SCCL) rose a modest 3.25 per cent Y-0-Y to 67.14 mt.

Recently, the minister said that India has adequate coal reserves and the country aims to
begin exporting the dry fuel by 2024-25. From a net importer of coal, India is moving towards
becoming a net exporter of non-coking coal, he said.

The demand for coal elevated to 1,027.92 mt in FY22 from 906.13 mt in FY21. For FY23,
demand was assessed at 1,087 mt.

Given the anticipated rise in coal demand as a consequence of financial development, the
home output is proposed to be elevated to 1,017 mt in FY24, which is further expected to
enhance by 9-10 per cent in FY25. As coal is India’s main supply, the demand will proceed
with a possible peak in the range of 1.1-1.3 billion tonnes by 2030. Coal India is expected to
produce one billion tonnes by 2025-26.

SubQuestion No : 22

922 Match the exact/anticipated coal output with the financial year.

Coal Output Financial Year
a. 778 mt 1.2023-24
b. 892.21 mt 2. 2021-22
c. 1,017 mt 3. 2022-23

Ans X 1.a1,b-3,c2
X 2.a-3,b-1,¢c2
X 3.a2,b1,¢3
o 4.a-2,b-3,c1

Question ID : 630680370188
Option 11D : 6306801442143
Option 21D : 6306801442142
Option 31D : 6306801442144
Option 4 ID : 6306801442141
Status : Answered
Chosen Option : 4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai2y7 Eooale Play

Comprehension:
Read the given passage and answer the questions that follow.

India posted record growth in coal production at more than 892 million tonne (mt) in 2022-23
from 778 mt in 2021-22 and thus, India’s coal production grew by 14.65 per cent on a Y-o-Y
foundation to hit an all-time high of 892.21 million tonnes aided by Coal India’s (CIL) record
production in addition to captive and business mines.

“This is a historic moment for the coal sector. | congratulate all the coal warriors and
stakeholders for the record growth. Despite the stiff targets, Coal India, SCCL, along with
captive and commercial mines have produced more than 892 mt of coal in FY23 (Financial
year 23). CIL has done a tremendous job by surpassing 700 mt this year,” Coal Minister
Pralhad Joshi informed reporters.

CILs production rose by virtually 13 per cent to 703.20 mt in FY23, whereas output by captives
and business mines grew by 34.59 per cent in FY23 to hit 121.88 mt. The production from
Singareni Collieries Company (SCCL) rose a modest 3.25 per cent Y-0-Y to 67.14 mt.

Recently, the minister said that India has adequate coal reserves and the country aims to
begin exporting the dry fuel by 2024-25. From a net importer of coal, India is moving towards
becoming a net exporter of non-coking coal, he said.

The demand for coal elevated to 1,027.92 mt in FY22 from 906.13 mt in FY21. For FY23,
demand was assessed at 1,087 mt.

Given the anticipated rise in coal demand as a consequence of financial development, the
home output is proposed to be elevated to 1,017 mt in FY24, which is further expected to
enhance by 9-10 per cent in FY25. As coal is India’s main supply, the demand will proceed
with a possible peak in the range of 1.1-1.3 billion tonnes by 2030. Coal India is expected to
produce one billion tonnes by 2025-26.

SubQuestion No : 23
Q.23 The main theme of the passage is:
Ans X 1.India’s import of coal

/X 2.rise in the demand for coal in India
%" 3. India’s record growth in coal production

< 4. India’s export of coal

Question ID : 630680370186
Option 11D : 6306801442136
Option 21D : 6306801442133
Option 31D : 6306801442134
Option 4 ID : 6306801442135
Status : Answered
Chosen Option : 3
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Comprehension:
Read the given passage and answer the questions that follow.

India posted record growth in coal production at more than 892 million tonne (mt) in 2022-23
from 778 mt in 2021-22 and thus, India’s coal production grew by 14.65 per cent on a Y-o-Y
foundation to hit an all-time high of 892.21 million tonnes aided by Coal India’s (CIL) record
production in addition to captive and business mines.

“This is a historic moment for the coal sector. | congratulate all the coal warriors and
stakeholders for the record growth. Despite the stiff targets, Coal India, SCCL, along with
captive and commercial mines have produced more than 892 mt of coal in FY23 (Financial
year 23). CIL has done a tremendous job by surpassing 700 mt this year,” Coal Minister
Pralhad Joshi informed reporters.

CIls production rose by virtually 13 per cent to 703.20 mt in FY23, whereas output by captives
and business mines grew by 34.59 per cent in FY23 to hit 121.88 mt. The production from
Singareni Collieries Company (SCCL) rose a modest 3.25 per cent Y-0-Y to 67.14 mt.

Recently, the minister said that India has adequate coal reserves and the country aims to
begin exporting the dry fuel by 2024-25. From a net importer of coal, India is moving towards
becoming a net exporter of non-coking coal, he said.

The demand for coal elevated to 1,027.92 mt in FY22 from 906.13 mt in FY21. For FY23,
demand was assessed at 1,087 mt.

Given the anticipated rise in coal demand as a consequence of financial development, the
home output is proposed to be elevated to 1,017 mt in FY24, which is further expected to
enhance by 9-10 per cent in FY25. As coal is India’s main supply, the demand will proceed
with a possible peak in the range of 1.1-1.3 billion tonnes by 2030. Coal India is expected to
produce one billion tonnes by 2025-26.

SubQuestion No : 24

Q.24 “The home output is proposed to be elevated to 1,017 mt in FY24". The word ‘elevated’ here
means all of the following EXCEPT:

Ans X 1.uplifted
75 2. raised
75 3.inflated
¥ 4. decreased

Question ID : 630680370189
Option 11D : 6306801442146
Option 2 ID : 6306801442145
Option 3 ID : 6306801442148
Option 4 ID : 6306801442147
Status : Answered
Chosen Option : 4
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Comprehension:
Read the given passage and answer the questions that follow.

India posted record growth in coal production at more than 892 million tonne (mt) in 2022-23
from 778 mt in 2021-22 and thus, India’s coal production grew by 14.65 per cent on a Y-o-Y
foundation to hit an all-time high of 892.21 million tonnes aided by Coal India’s (CIL) record
production in addition to captive and business mines.

“This is a historic moment for the coal sector. | congratulate all the coal warriors and
stakeholders for the record growth. Despite the stiff targets, Coal India, SCCL, along with
captive and commercial mines have produced more than 892 mt of coal in FY23 (Financial
year 23). CIL has done a tremendous job by surpassing 700 mt this year,” Coal Minister
Pralhad Joshi informed reporters.

CILs production rose by virtually 13 per cent to 703.20 mt in FY23, whereas output by captives
and business mines grew by 34.59 per cent in FY23 to hit 121.88 mt. The production from
Singareni Collieries Company (SCCL) rose a modest 3.25 per cent Y-0-Y to 67.14 mt.

Recently, the minister said that India has adequate coal reserves and the country aims to
begin exporting the dry fuel by 2024-25. From a net importer of coal, India is moving towards
becoming a net exporter of non-coking coal, he said.

The demand for coal elevated to 1,027.92 mt in FY22 from 906.13 mt in FY21. For FY23,
demand was assessed at 1,087 mt.

Given the anticipated rise in coal demand as a consequence of financial development, the
home output is proposed to be elevated to 1,017 mt in FY24, which is further expected to
enhance by 9-10 per cent in FY25. As coal is India’s main supply, the demand will proceed
with a possible peak in the range of 1.1-1.3 billion tonnes by 2030. Coal India is expected to
produce one billion tonnes by 2025-26.
SubQuestion No : 25

Q.25 Which of the following companies or mines produced the highest amount of coal?

Ans  4# 1. Coal India
/X 2. Business mines
/X 3. Captives mines
Z< 4. Singareni Collieries Company

Question ID : 630680370187
Option 11D : 6306801442137
Option 21D : 6306801442139
Option 31D : 6306801442138
Option 4 ID : 6306801442140
Status : Answered
Chosen Option : 1
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